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Dimensional formula for thermal

conductivity is (here K denotes the

temperature) :
MLT-2K
MLT-3K™1
MLT 3K

MLT-2K-2

AT ATeradl & ford fafag 93 (dimensional
formula) eFT (el 98 K arqqi S9iar &
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Options :

40503640521, MLT 2K
MLT-3K-1
MLT-3K
MLT-2K~2

A Tennis ball is released from a height h

and after freely falling on a wooden floor
it rebounds and reaches height 1—1 The

velocity versus height of the ball during its
motion may be represented graphically
by :

(graph are drawn schematically and on

not to scale)

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice .
www.FirstRanker.com

— hi(p
40503640526.

T &
__&‘ .
A—r h
hj2y h@)
4
i
; —h(v)
k\, hjE../,-
Wl

U 2 g h S 9 Bie w6l g $R =

h

2
37ATE O TgAdt B | T ford Tfa o SN A
F 9 AR FAE F dr" gy e d O e
T g fewamn < 2

(T TR E)

] U UF @Fel & FY W HAH T

www.FirstRanker.com

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice .
www.FirstRanker.com

Options :

Lﬂfz
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¥

40503640525. L
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Starting from the origin at time t=0, with

A
initial velocity 5 i ms_] , a particle moves

in the x—y plane with a constant
acceleration of [1[] i+4 ;J ms 2. At time

t, its coordinates are (20 m, Yy m). The

values of t and 1, are, respectively :

2sand 24 m

4sand 52 m

2sand 18 m

5s5and 25 m

THA =0T e fofg U IREFF S 5 s !

M,

q = [m:‘ } J_{j}ns‘z F WY I aa

U F x—y HTA W HA W& Tt T
Hﬁﬁl’ﬂ(Zﬂm,yﬂm}T{%l FH: T t 3R

www.FirstRanker.com

— ;e

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

Options :

40503640529, =5 #AN24 m
4s#HAT52 m
25318 m
55325 m
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Blocks of masses m, 2m, 4m and 8m are

arranged in a line on a frictionless floor.
Another block of mass m, moving with
speed v along the same line (see figure)

collides with mass m in perfectl}r inelastic

manner. All the subsequent collisions are
also perfectly inelastic. By the time the last

block of mass 8m starts moving the total

energy loss is p% of the original energy.

Value of ’p’ is close o :

—D

F i i i i F i
i A

"'f.r'r /| .-"rr "'r.f"' i f'r.r'r f.rf{" .f'r.rf A

m m 2m dm Bm

37
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40503640534, /7

87

94
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40503640536, >3

On the x-axis and at a distance x from the

origin, the gravitational field due to amass

distribution is given by 3, in the
= _2 ; 2 ’2
{x +a)
r-direction. The magnitude of

gravitational potential on the x-axis at a
distance x, taking its value to be zero at

infinity, is :
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

-8 | 3R geAtag ¥ x g W U faaia
TSI ¥ ItUE FA FTel NEEE w3
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— xfam d %1 1319 W gA fag

{xz ba? ¥
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A air bubble of radius 1 cm in water has
an upward acceleration 9.8 cm s 2. The
density of water is 1 gm cm ~3 and water
offers negligible drag force on the bubble.
The mass of the bubble is
(=980 cm/s?).

1.52 gm

3.15 gm

415 gm

4.51 gm

541 1 cm 1 U 919 1 FaAgell 94 § FH
FAR98 cm s 2T H TA R E | I FI
9 1 gm cm 3 ¥ 3 Fegel W IH 5A
T ST FHH T TG | Terdel 1 5T
T (=980 cm/s?) :

1.52 gm
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40503640543, =10 8m

4. 51 gm

The specific heat of water=
4200 J kg 'K~ ! and the latent heat of
ice=3.4x10° Tkg 1. 100 grams of ice at
0°Cis placed in 200 g of water at 25°C. The
amount of ice that will melt as the

temperature of water reaches (°C is close
to (in grams) :

69.3

61.7

64.6

63.8
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9t i fafre Fe=4200 T kg~ ! K~ @
o foree #1 T FH1=3.4x10% J kg !
€1 0°C =1 100 g 9% =1 25°C % 200 g A
T 2Tl S ¥ | S U 0°C T A @ a6
=1 Tt = (o H) e s ?

69.3
61.7
64.6

63.8

Match the C,/C,; ratio for ideal gases with
different type of molecules :

Molecule Type Cp/Cy
(A) Monatomic 1 R
(B) Diatomic rigid molecules Im 9/7
(C) Diatomic non-rigid molecules (III) 4/3
(D) Triatomic rigid molecules (IV)5/3

(A)(IV), (B)-0), (C)-(1), (D)-(TIT)
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140503640550, L (IV). B)-(D), (O-(), (D)-11)
(A)-(I1I), (B)-(IV), (O)-(IT), (D)D)

(A)-(I), (B)-(TI), (C)-(I), (D)-(1V)

oot s7opei | =1 eyl T F fea A

T TRT | A F FER AR T F Cp/Cy,

AT 1 HA HL

3T F WY Cp/Cy
(A) THTHAF @O 7/5
B) f5 T, TE (I 9/7
©) T5 T, 5% (Im) 4/3
(D) T3 7T, T3 T (Iv) 5/3

(A)-(IV), (B)-(T), (C-(I0), (D)-(TIT)

(A)-(IV), (B)-ID), (O-(T), (D)-(TID)

(A)-(II), (B)-(IV), (C)-(I0), (D)D)

(A)-(IT), (B)-(IIT), (C)-(T), (D)-(IV)

www.FirstRanker.com
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Question Number : 9 Question Id : 40503611164 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For a transverse wave travelling along a
straight line, the distance between two
peaks (crests) is 5 m, while the distance
between one crest and one troughis 1.5 m.
The possible wavelengths (in m) of the

waves are :

T |l T W= =JIell U S T+
<1 3l % == =t g8 5 m ¥ 94F 39F TF
Y AR TCF T F AT FI A L5 m T | TAF
Hufag qirest & Hiet § 9 €
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40503640553, 1 2 3 oeen

1 fex L —
1.1
-
111
o -

Two charged thin infinite plane sheets of
uniform surface charge density o, and o _,
where |o, | > |o_|, intersect at right angle.
Which of the following best represents the
electric field lines for this system :

Ny {f{

T+
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AN
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- ""h. __jl': /.-""
N

40503640558.
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40503640560.

A two point charges 4q and —q are fixed

on the x-axis at x = P and x = E

respectively. If a third point charge ‘q’ is
taken from the origin to x=d along the
semicircle as shown in the figure, the

energy of the charge will :

increase by
© 4mweqgd

www.FirstRanker.com
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decrease by
40503640563.

increase by

q fag =W 4q I —q 1-FF W FHFAW
o %ax=%mrﬁ‘§q%’| afg TF
T fag smEn g H A g H a=d W
o2 4 feE® w1999 W o <& 9 @ 39
SAE9 F e
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40503640563.

A battery of 3.0 V is connected to a resistor
dissipating 0.5 W of power. If the terminal
voltage of the battery is 2.5 V, the power
dissipated within the internal resistance
is :

0.125W

0.50 W

0.072 W

0.10 W

www.FirstRanker.com
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3.0 V&1 U 920 U giaeE 9 99 @ 2
T8 gl § 0.5 W wIfed 1 e g 21 afg
F20 F O (terminals) & =19 aeedl
2.5V 1 1 924 F aAiai wfais § o9 2F
At wife 1 °5M 2

0.125 W

0.50 W

0.072 W

0.10 W
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A wire A, bent in the shape of an arc of a
circle, carrying a current of 2 A and having
radius 2 cm and another wire B, also bent
in the shape of arc of a circle, carrying a
current of 3 A and having radius of 4 cm,
are placed as shown in the figure. The ratio
of the magnetic fields due to the wires A

and B at the common centre O is :

/”‘Z\
O

|'III #{- \ ll'lB
| }J:I\
AR .
\/ 60° \_"
6h:5H
25
4:6
6:4
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U G A 1 AN UF 99 F A9 H 2| TH
FAFHI A2 cm T AR TH TR H 2 A Fi faea
ST <% T&l € | U gHY 9’ B+t UF 99 % =
% SR F1§ AR TH I9 F 514 cm & a1
A H 3 AT umEE wE (= ad) ) =
fe1fd # 29 991 % @M %= (common centre)
O™ 97 A ¥R 91 B | =71 9t == &4
H HHE = ST 2T
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A small bar magnet placed with its axis at
30° with an external field of 0.06 T
experiences a torque of 0.018 Nm. The
minimum work required to rotate it from
its stable to unstable equilibrium position

is :
6.4x1072]
72x10~2]
92x10-3 ]

11.7x1073 ]

TF S EF & 4G 0.06 T F UH Al
T=hE 947 H U4 @ 9 fF sHE A9
THE G F 30° FI T 2, q THEE W
I AT w31 0.018 Nm 1 U # 1fg
TrE 1 SHE T A9 | AR 9 a6
THE S A 59 WA H R S 9l =g
=1 1 A 2 :

& 4% 10 2]

www.FirstRanker.com
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40503640574, -2X1077]

92x10-3 ]

11.7x1073 ]

A small bar magnet is moved through a
coil at constant speed from one end to the
other. Which of the following series of
observations will be seen on the

galvanometer G attached across the coil ?

'\f:

; L
:lf 5000 ‘i:ijwﬁl’ry | « magnet

C

Three positions shown describe : (a) the
magnet’s entry (b) magnet is completely

inside and (c) magnet’s exit.

LRI
IV

|
. A o lﬁ'\ yi
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40503640578, \ / \- S \- _.,/

(E_l) (b) ’_(C}x\
) Fg
4 e i / \Jl—*lf. / i
LI Y l,x s ot
,f_ﬂ_x\ (b) (©)
' Vi . v Al
f T \' ;T. T | f va \”
o / N \ il
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U DI 38 T Fl T H3cil & 373 Th
2 | ger T o wam i & o S S e |
T # A9 e T goiis e 50 Fee |
1 et G W FY e ?

. G

-
I'«._I_z"
I i ﬂ
= (000 =R 00 =1 «<-=magnet
b

c

femamet Tt i Feafeal 2 : (a) 979 T9aeh dheedt
H 991 Al B, (b) 5 grash T a0 § Feet
F L E, T () 99 9% Fecll F AN
e w2

@ 1. 19
f/fT \‘": s .:/ T\'J'._,. ;’I/ T \]
N Lt N K :

(a) (b) (<)
N, AN g
i | — ::I T x:: | S A
I"\.\ ) / '\'\M - /.-"I I..\«.\_\_\___ /
(a) (b) ©
= 7 “\1
:,f A - i T

ANYAY.
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40503640580.

Choose the correct option relating
wavelengths of different parts of

electmnmgnetic wave spectrum :

hrar_liu waves - hmicru waves = hvisible
hx-rays

R - > :
visible ‘\‘x-ruyh‘ 'Krur.llu waves

mMICTD WAVES

<A

: e
X=Tdy's mMiCro waves [-HLI.IL'I waves

‘kv isible

<A

i e i <
‘Rvuﬂble “"nucru waves radio waves

X=-Idy s
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/1 F 9 faga g==E @ & v &
fafsm 9l o Tesdl & =9 |Wal 9=y 5
T

"‘mm o hﬂlﬁfﬂ'ﬂ'} hgw}‘lx—hm?f
'hgazl ) “"x—ﬁ:rﬂi} "mm} Rtﬂﬁ-‘fﬂa
l:r—h‘rﬁ‘i{ “"'ma?rﬂa{ ‘I*tl'aﬂ'raﬁi{ lE;FI

N < N < Mt ot < Mo

A beam of plane polarised light of large
cross-sectional area and uniform intensity
of 3.3 Wm 2 falls normally on a polariser
(cross sectional area 3 x 10~ % m?) which
rotates about its axis with an angular
speed of 31.4 rad/s. The energy of light
passing through the polariser per

revolution, is close to :

1.0x10-5 ]

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503640586, 1:0%1074]

1.5x10~%4]

50x1074]

IT HAITE FE FARA UH UH GHA e
3.3 Wm 2 9/l T& HF9dd giaq T &
U9 TF Y% (polariser) T o= Tedl 2|
Yo% 1 FAFA 310 4 m2 ¥ gIH AH
A T HOT TG 314 rad/s T 9 W B
T H i RyAv 59 g s 9 FE S At
o191 o1 Sell 31 |1 @1 941 2R 2 &

10x10-5]
1.0x1074]
1.5x10~4]

50x1074]
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Particle A of mass m, = —- moving along

the r-axis with velncit}r U, collides

elas..tic:a]l}r with another pa:ticle B at rest

havi_ng mass mg = % If both part:icles

move along the x-axis after the collision,
the change A\ in de-Broglie wavlength of
particle A, in terms of its de-Broglie
wavelength (A,) before collision is :

3
AN =2
5 Mo

AN = =g

AN=4),

www.FirstRanker.com
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o

0, TTFd H <TeTdl g1 Z=99H mp — % F T

B, 51 ferrrareen H % A yoarea: <dl 21
Afg B o 91% 1 FHI x—HA o WY Twie
T, T ®U A F S-drel Toesd § qfitadq
AN F1 9F THF HUZ H Ygd & S-Arl
e (\,) ¥ o weR e 27

' 3
Ak = —
> Ag

AN =

ka3 |

AN=4),
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Take the breakdown voltage of the zener
diode used in the given circuit as 6V. For
the input voltage shown in figure below,

the time variation of the output vnltage is :

(Graphs drawn are schematic and not to
scale)

Ry
P{}}r _. e
v — D ‘.-/-| \.__\. i .\\1. vln ’i: vﬂ

Fi
1) L
—-10V

O
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Question Number : 19 Question Id : 40503611174 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fea ma aftvg H @ S SEE & YWsH
Ao (breakdown voltage) 6V GIRGERCE
# femrdi 7 fE9 (input) Sezdl & ford fim
(output) dedl FHY % HWY fFYH THN
ageril ?
(o it 2)

1[] V ) M .J, o
U = ﬂ ‘f/ -[ \\'1 ":’f \‘" r 1IiLI;II'[T"I r_:\:; vﬂ

1'\ | -";l. .1\_ _.--f

—10V
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40503640596.

Given figure shows few data points in a
photo electric effect experiment for a certain
metal. The minimum energy for ejection
of electron from its surface is : (Plancks
constant h=6.62 x 10~34 |.s)

B

 Vip (V)

1.93 eV

227 eV

259 eV
www.FirstRanker.com
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Question Number : 20 Question Id : 40503611175 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fed 73 foa 9§ us a1 Wy foea 99 &
T F F9 AlFd & fag fmm @ E =@
o] F1 Hag ¥ Toae[ Scdfed i & ol
JAqH ATAYEF Sl 1 A € : (T e
h=6.62x10"3].s)

— Y

:_:k E Y

jo'8

7 P

C

> /_('5, V)
B .=
#(5.5,0)

[ A'-/

1.93 eV

227 eV

259 eV
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 40503611176 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

ABC is a plane lamina of the shape of an
equilateral triangle. D, E are mid points of
AB, AC and G is the centroid of the lamina.
Moment of inertia of the lamina about an
axis passing through G and perpendicular
to the plane ABC is [;. If part ADE is

removed, the moment of inertia of the

‘NI
remaining part aboul the same axis is TE:}

where N is an integer. Value of N is

5t05.002

Correct Marks : 4 Wrong Marks : Owww.FirstRanker.com
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a9 ¥ ABC U& 4R HYd & AER &l
WA (lamina) ¥1 S99 D R E FH9: AB 3R
AC ¥ 7T T 991 G 30 Td F1 F=F & |
Fe 9 T 9 916 ABC 9@ % o
1% o |TY%] T 1 SIS S 1, ¥ | afs w
Y ADE I =1 g2 faa 9 a1 /9 g 90 &
‘NI
16
(N U= quiis &) & o1 €1 N &1 99 &
E

THT Hel & WIYE wged AT

s

5 to 5.002

Question Number : 22 Question Id : 40503611177 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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A circular disc of mass M and radius R is
rotating about its axis with angular speed

w,. If another stationary disc having radius

= and same mass M is dropped co-axially

on to the rotating disc. Gradually both discs
attain constant angular speed w,. The
energy lost in the process is p% of the initial
energy. Value of p is

5t05.002

Question Number : 22 Question Id : 40503611177 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

F=ME M 41 51 R & U= feig a9 a1
T HIE T o, W TH T o forw muE

fer femr fams g9 M W &= g%

HHIE: {coaxiall}r}l?ﬁfﬁﬁlﬁﬁél o -

HiE ST Teeh 311 | U W R0 T w, J

TAT ORI €| 9 WA § qe el # p%

F9l F1 &Ifq & Wt 21 p 1 AE
|
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 23 Question Id : 40503611178 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A closed vessel contains 0.1 mole of a
monatomic ideal gas at 200 K. If 0.05 mole
of the same gas at 400 K is added to it, the
final equilibrium temperature (in K) of the

gas in the wessel will be close to

5 to0 5.002

Question Number : 23 Question Id : 40503611178 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

T 95 9o | 200 K a99H W 0.1 91 U6
T SAEY T 9 gE € | A 400 K arTEH
el SHY T % 0,05 Hie $R 1 fed 9 G
A H 39 999 § 9l 79 F arvee

- =
—ITIIL i

I A
T T

il
LI

A
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 24 Question Id : 40503611179 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

In a compound microscope, the magnified
virtual image is formed at a distance of
25 cm from the eye-piece. The focal length
of its objective lens is 1 cm. If the
magnification is 100 and the tube length of
the microscope is 20 cm, then the focal

length of the eye-piece lens (in cm) is

5 to 5.002

Question Number : 24 Question Id : 40503611179 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Qﬂa‘ﬂﬂﬁﬁﬁ&'ﬁ‘q’?ﬁ (compound microscope)
H FETHT AT Widfer= (magnified virtual
image) AT | 25 cm T T S T T
Afqgeae o= F1 BIFE g0 1 cm &1 42
@A 100 &1 3 awEt Hf Tl F o
20 cm & W §HE ACAH oG H HEHT
(cm ) 27t |

5 to0 5.002

Question Number : 25 Question Id : 40503611180 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

In the line spectra of hydrogen atom,
difference between the largest and the
shortest wavelengths of the Lyman series

is 304 A. The ccrrrespnnding difference for
the Paschan series in A is

S 10 5.002
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Question Number : 25 Question Id : 40503611180 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

EISSIS WY & BIa2d & egaA J0it 3§ gad
o=l 3 gy Be airesf w1 o o
304 A = SRR | T U9E SO 1 Had o

SR T Bl aiTeEl St o § A H 3

[ A

5t05.002

Chemistry

Section Id : 405036407
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036781
Question Shuffling Allowed : Yes
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Question Number : 26 Question Id : 40503611181 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following :

(i) Foam (@) smoke
(i) Gel (b)  cell fluid
(iii) Aerosol (c) jellies
(iv) Emulsion (d) rubber
(e) froth
(f) milk

()-(e), (i1)-(c), (iii)~(a), (iv)-(f)

(1)-(b), (i1)-(c), (11)-(e), (iv)-(d)

()-(d), (i)-(b), (iii)-(e), (iv)-(f)

(0)-(d), (1)-(b), (ui)-(a), (v)-(e)
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f1 =t gafera #ifor -
(@ wM () T ()
(i) S (b) FA T
(i) TEET () Sl
(iv) FHTEHA (d) =X

(e) Y

)

()-(e), (i1)-(c), (ui)-(a), (v)-(f)

(1)-(b), (i1)-(c), (iii)-(e), (iv)-(d)

()-(d), (i)-(b), (iii)-(e), (iv)-(£)

()-(d), (1)-(b), (i)-(a), (iv)-(e)
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}'-'Iext
]
|

|—v"-.-"‘-.-'"-.-"'-.-"‘-.-"'-"..-"."'l.."'-.-"."‘—

Znrod D Cu rod
— —

—ve +ve
IM  eHed Salt [ M
ZnS0; 4 Bridge | CuSOs
soln, E=== soln.

LCu2+|Cu =+034V

[+

B y2tzn= ~076 V

Identif}r the incorrect statement from the
Dpt:iom below for the above cell :

IfE.. <11V, Zn dissolves at anode
and Cu deposits at cathode

If E ¢ = 1.1V, no flow of e~ or

= ex
current occurs

If EEKt >11V, e flows from Cu to
n

It E ;e 1.1 V, Zn dissolves at Zn

"EX
electrode and Cu deposits at Cu

electrode

www.FirstRanker.com
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Question Number : 27 Question Id : 40503611182 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Earar
|
|_v"-.'"'-.'""."I".'"-."'-'.'-"'.'"".'ﬁ'."'i"'_

If-r_-.‘-\l

Znrod e Cu rod
» P I
1M . ] ™

7ZnS0, CuS0O,
EREE] IEREC]
Ecy2ticy = H034V
Ep2tizn= 076V
I Hd & fow 34 fog @ fawen 4 9
TeAd 99 &l TgaId

A By < 1.1V, Fioh Tre R o &
A9 Cu Here T SH 2l 2 |

A By = 1.1V, e~ ™A1 U1 F
W e 2|

AR E gy > 1.1V, ST 1 Y48 HW
q =% =1 3m
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A By > 1.1V, Zn, TS sooIs W
el € T4 Cu, FIW SIS T I

40503640613, T €|

For the equilibrium A’ B, the variation
of the rate of the forward (a) and reverse

(b) reaction with time is given by :

o

o

B \ a

S —

— "'-_____ g "

e -——I equilibrium
gl b :

~ —* Time

=

=

A

]

] i e ysad i
o s equilibrium
Ko g T e s

o -

u -

o — ’

(= — lime
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c
=
24\2
& T b
s gt _I equilibrium
8 .
[ « b
40503640616, R
e
Ry
o \f_% o
E T quuilibrium
5 T
gl b
(451 »
2% — Time

|, A B, & feT0, 999 &% |19 Y (a) @
I5FH (b) AR T 51 %1 THEd 4 #

f{ A oo < -
F:;_
G4 N2
5_#- ‘-:——I —
J.____,-""--fb .
— HHY
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R
er§ K“*i_%_ - B I T
—— i
— T

40503640615.
Rr
5 4| N2
:'_'_'_'.'__I |1y
“b
= g '
= 4
F4N2
E / b -\-HH\
~ — o ’
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For one mole of anideal gas, which of these

statements must be true ?

(@)

(b)

(©
(d)

U and H each depends ::-1"113,F on

te mpera ture

Cnmpressihi]it}r factor z is not equal
o1

lCP‘, m_ C‘v‘, m_ R
dU=C,dT for any process
(c) and (d)
(a) and (c)

(b), (c) and (d)

(a), (c) and (d)

T ey 74 F UF 9 & fan, o wad |
H F11 9 21 =1fey ?

(a)
(b)
(©

U aen H 9% A& a9 7 [ #3021
=l TOF z, 1 F TR e 2
AR T

YV, m

www.FirstRanker.com

(d)

dU=C,dT f&dl 94 & TaQ
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Options :

40503640618, (&) T4 (d)
(a) 1 (0
(b), (c) T4 (d)

(@), (c) @41 (d)

The intermolecular potential energy for the

molecules A, B, C and D given below
suggests that :

Interatomic distance (pm)

0 150" 100 3, 150
| ¢ g
I 4
—100 A ; : ;r 7
200 ——F——+—F
Potential ioF a4 d Ha [(
Energy —300 . . ‘-'K.,,x"
i . i . —
(k] mol 1) — 400 ———— 4+ A=D
_sop|—AZA L A-C
— 600 =B

A Al 1 1 1 1 1 1
D=0 Tds UIE LL‘IIEL"E-T. MOTREL L‘IlLLlrj.lP}' .

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice )
www.FirstRanker.com

40503640623 A-B has the stiffest bond.

A-D has the shortest bond Eengf_h.

D is more electronegative than other
atoms.

ST % fon sfaueTe fefas e &1 A, B,
C =1 D g1 = e ™ €, 54w €

ES i E ?Lﬁ {pm)
0150 100 3, 150
T T
1 e K ] *
~100 R
1 | .f ¥
feuferst —200 ——— =
Fat  _ L i G Lo
(k] mol 1) I TEE %
—400 — s D
_&an A & ! A—C
— 600 o

A-A FI HAEY T AfwaH 2

A-B 1 Y GaiiHes 9 2 |

www.FirstRanker.com
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40503640624 A-D i & Pt T

A THEHA i gE J D = R0
ferert 1

The region in the electromagnetic spectrum

where the Balmer series lines appear is :

Ultraviolet

Visible
Infrared

Microwave

Torgga s Tiaey § 9% 49, Sl 9 gof

= [a)
T ]
www.FirstRanker.com
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40503640627, =7

AT

The ionicradii of O~ ,F~,Na* and Mg?*

are in the order :
0?~ > F~>Na* >Mg?*
Mgt >Nat* >F~ >0?
0?~ >F~ >Mg2* >Na*

F~ >0?" >Na* > Mg?*

02-,F~,Na* G Mg2*+ & afa o=

RELCEEE
www.FirstRanker.com
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Options :
' 2 +
40503640630, O > F7>Na® >Mg

Mg?* >Na* >F~ >0?
0%~ >F~ >Mg2* >Na*

F~ >0% >Na* >Mg?*

Among statements (a) - (d), the correct ones
are :

(@) Lime stone is decomposed to CaO
during the extraction of iron from its

oxides.

(b) In the extraction of silver, silver is

extracted as an anionic complex.
(c) Nickelis purified by Mond's process.
(d) Zr and Ti are purified by Van Arkel
method.

(b). (c) and (d) only

P W (R ) i [ Y
Wl AW ) LI R
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40503640636, (©) and (d) only

(a), (c) and (d) only

(a) - (d) F=FT H, Tl o7 2

(a) AR il 59 FHiFES H Fehfug &
# TEH = (FAMet) CaO # faafeq
& S €

(b)y THeaR & v , faeaw v H|omaAr
Hehel F &9 § Fepfig 2 21

(c) TH=a =1 9= 955 51 U5 F4 2|

(d) Zr T Ti F T9 Tha @9 9 IS
FA N

&ad (b), (c) a4 (d)
(a), (b), (c) @1 (d)
=Ed (c) 4T (d)

=HEd (a), () 791 (d)
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Question Number : 34 Question Id : 40503611189 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
On combustion of Li, Na and K in excess
of air, the major oxides formed,

respectively, are :
Li,O, Na,O and K50,
LiED, NazDz and ICIEJ'2
Li,O, Na,O5 and K,O

Li,0,, Na,0, and K,0,

9 & N9 ® Li, Na a1 K & €89 W
A WY SEEISE 9§

Li,O, Na,0 @1 K,0,

Li,O, Na,O, 74 KO,

www.FirstRanker.com
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Li.O, Na,O, 941 K,0
40503640640, 1207 NaOp T Ky

Li,O,, Na,0, 71 K,0,

On heating, lead(II) nitrate gives a brown
gas (A). The gas (A) on cooling changes to
a colourless solid /liquid (B). (B) on heating
with NO changes to a blue solid (C). The
oxidation number of nitrogen in solid (C)
is :

+2
+3

+4

+5

www.FirstRanker.com
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eIg(Il) A5 A HH W TEH L T1 91 79
(A) TA 1 TE (A) I FH W TF A

e

39 /54 (B) ¥ ufEfdd S S ® 1 (B), NO %
mawmquﬁiﬁ?ﬁéﬂ(q H
T T | 3 (C) H AG2IeH 1 AT
&N T

+2

+3

+4

+5

The elements with atomic numbers 101 and

104 belong to, respectively, :
Group 11 and Group 4

Actinoids and Group 6

Group 6 and Actinoids

www.FirstRanker.com
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40503640649, ctinoids and Group 4

e, foeeh! TE HeE=A 101 991 104 €, FH:
oY W €

7 11 991 79 4
Ufe=raed 991 99 6
7Y 6 91 Ufeeara=d

The number of isomers possible for

[Pt(en)(NO,),] is

www.FirstRanker.com
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40503640652. 3

[Pt(en)(NO,),] ¥ fau Hwa wom=af==i i
T

The pair in which both the species have the

same magnetic moment (spin only) is:

[Cr(H,0),]** and [CoCl,]2

[Cr(H,0)4]-* and [Fe(H,O) ="
www.FirstRanker.com
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2 2
40503640656, M(FL0)g]*" and [Cr(HO)**

[Co(OH),*~ and [Fe(NH,)]**

st (o =) 2, &

[Cr(H,0),]** @1 [CoCl,]?
[Cr(H,0).]?* @ [Fe(H,0) >
[Mn(H,0)]** a1 [Cr(H,0)]*"

[Co(OH),|*~ TN [Fe(NH;)q]*"
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An organic compound (A) (molecular
formula C.H;,0,) was hydrolysed with
dil. H,50, to give a carboxylic acid (B) and
an alcohol (C). ‘C’ gives white turbidity
immediately when treated with anhydrous
ZnCl, and conc. HCl. The organic

compound (A)is :
gt

J

;—“"f

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

TF FEE AH (A) (F0EA CH,0,)
I 7 H,50, % "9 SasAwEfed fwan
TSy FrEifedias TfEe (B) 991 Uehiai (C)
e 81 914 fasfa ZnCL, 91 92 HAL &
e AT T T @ ‘C UF Hihe SAfaer
T SA1 & | Hreieh AMTH (A) # :

0
|
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The IUPAC name of the following

cc-mpr:-und is:

CHj, (ﬁ-'
- L0
.,

Br

3-BrDmD-S-meth}rlcyclcrpentam:ric

acid

4-Bromo-2-methylcyclopentane

carhnxy]ic acid

3- BrDmD-S-meth}rlcyc lnpentane

carboxylic acid

5-Bromo-3-methylcyclopentanoic

acid

www.FirstRanker.com
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foe T =1 sggdeEt A

CH; O
C—OH

Br

3_FAML-5-Hf g HEF I =AEE Ufas

A-FMI-2-HTeTHEFA A FI=aeTF
ufos

3-FH-5- AT A=A Faitaafes
ufgs

= om m m

5-AMI-3-Hf e HEaF=AEs Uae
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The decreasing order of reactivity of the

following organic molecules towards
AgND3 solution is :

Cl
cl |
l
/% —
L= OMe
(4) (B)
CH3CHCH; CH,CHCH,NO,
7 |
Cl Cl
(© (D)
(A)>(B) > (C) > (D)

(B) > (A) >(C) > (D)

(A) >(B) >(D) > (C)

(© > (D) >(A)>(B)

www.FirstRanker.com
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AgNO, =ia1 % 9fa 7= wrweifr A0t =i

Af9fFaTsTer &1 920 %9 ¢
cfl
Cl
IL o
/=\ OMe
(A) (B)
CH3(|ZHCH3 CHS(T"HCHZNDZ
Cl Cl
(C) (D)
(A) > (B) > (C) > (D)
(B) > (A) >(C) > (D)
(A) >(B) > (D) > (C)
(O >(D)>(A)>(B)

What are the functional groups present in

the structure of maltose ?

www.FirstRanker.com
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40503640670. One acetal and one ketal

(One acetal and one hemiacetal

One ketal and one hemiketal

Two acetals

HIeers &1 W § SUReE S Aass
AR E?

U UHEA 791 U *ad
u-a;--. ﬂﬂ[wﬂ a it

a_-xl-\ﬁ
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[P] on treatment with Br,/FeBr, in CCl,

produced a single isomer CgH-O,Br while
heating [P’] with sodalime gave toluene.
The compound [P] is :

CH,COOH

s

ol
L

COOH
r}\/«:1 Iy

)

L

COOH

Ty
)

ey

COOH

www.FirstRanker.com
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[P], CCl, H Br,/FeBr, & |IY Af9Fd F
T U TFHal FaEga] CgH-O,Br Fl T =4
f [P] @reEEd & A9 TWH FE W e
fean | =ifw [P] g:

CH,COOH

s

~
A

www.FirstRanker.com
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When neopentyl alcohol is heated with an
acid, it slowly converted into an 85 : 15

mixture of alkenes A and B, respectively.
What are these alkenes 7

H;C,  CH, HyC  CH,
H,C H,C
CH,

H,C CH,

H,C  CH, HyC ~ CHs

H,C CH,
CH,
CH
CH O
- "
(,1—12 CII3

www.FirstRanker.com
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4 F39=1Ea Uoahiald &1 UF 375 & 919
TH g1 A & 99 98 FH9: A 991 B UeFEl
% 85: 15 g | - aga S &1 3

e = 8 7

./
H,C H,C
CH,
HyC CH,

H,C CH, H,C ~ CHj
\_/ N o

H,C CH,

Ci ISJHZ‘ CH; CH,
/! Gl /

CH, CH

Which of the [ Dllr:-wing will react with
CH(Cl, +alc. KOH ?

www.FirstRanker.com
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40503640682, “*denine and proline

Adenine and thymine
Adenine and lysine

Thymine and proline

7 # ¥ F\ CHCL, + teshmefas KOH #
Y AR FHom ?

TefA a9 FEfeE

AT T YIetA
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The mass of ammonia in grams produced
when 2.8 kg of dinitrogen quantitatively

reacts with 1 kg of dih}-'drngen is

5t05.002

Question Number : 46 Question Id : 40503611201 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

4 eTEASeSA #1 2.8 kg HEHS €9 4
eTEReeH F 1 kg F WY STafRa FLa1 7
1 e 2 At S 5w (A ) 2

5 to 5.002

Question Number : 47 Question Id : 40503611202 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

At 300 K, the vapour pressure of a solution
containing 1 mole of n-hexane and 3 moles
of n-heptane is 550 mm of Hg. At the
same temperature, if one more mole of n-
heptane is added to this solution, the
vapour pressure of the solution increases
by 10 mm of Hg. What is the vapour
pressure in mm Hg of n-heptane in its pure

state ?

5 t0 5.002

Question Number : 47 Question Id : 40503611202 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

300 K W, U faeeq, o 1 9@ n-g A

q1 3 Hel n-TeA =1 9197 <19 550 mm Hg

€| 5H 99 W, 3G n-eA F 1 Hiel H e

H faam 9@ a1 fae=a %1 99 T[4

10 mm Hg ﬁﬁi{ﬁﬁ“%l n-e<+ 1, SHH!

fo9rE @1@wn 9, 91 §9 (mm Hg ) 21 2

7
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Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 48 Question Id : 40503611203 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If 75% of a first order reaction was
completed in 90 minutes, 60% of the same
reaction would be completed in

approximately (in minutes)

(Take : log 2=0.30; log 2.5=0.40)

5t05.002

Question Number : 48 Question Id : 40503611203 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afe UF WIH Hife i AfAGEN F1 75%, 90
o2l § 90 & T a1 sH At #60%
T BN A o e H2?

(7 : log 2=0.30; log 2.5=0.40)
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Possible Answers :
5 to 5.002

Question Number : 49 Question Id : 40503611204 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A 20.0mL solution containing 0.2 g impure
H,0, reacts completely with 0.316 g of
KMnO, in acid solution. The purity of
H,0, (in %) is (mol. wt. of
H,0,=34; mol wt. of KMnO,=158)

5 to0 5.002

Question Number : 49 Question Id : 40503611204 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

20.0 mL faeraa fomd 02 g 5196 H,0, ¥,
g foe@a § KMnO, % 0316 g & 1
quiaa sAfafwan #T@ 81 H,0, # asd
(% ®) Bl

(H,0, F1 S[H=34; KMnO, &1 4R
=158)
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Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to 5.002

Question Number : 50 Question Id : 40503611205 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of chiral centres present in [B]

15

{ \\}—Cli—CE?\] [A]
L (ii) HaO+
/ CH,
(i) CH;MgBr
> [B]
(ii) H,O
5to 5.002

Question Number : 50 Question Id : 40503611205 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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[B] & Sufeera #1si@ T=U H1 T= §

\ (i) CoHsMgBr

( CH—-C=N > [A]
)_ (i) HO+
7 LI I,

(i) CH;MgBr

(i) H,O

5 t0 5.002

Mathematics
Section Id : 405036408
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036783
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503611206 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A survey shows that 63% of the peoplein a
city read newspaper A whereas 76% read
newspaper B. If x% of the people read both

the newspapers, then a possible value of x
can be :

29

T Her g9ial & 7 uF wew # 63% @
HHHER 99 A U%d §, Said 76% HHER 95 B
Ted €| A x % TR 2 THER O IS €,
x 1 U TEqfad 5H 2 Tl  ;

29
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40503640692. 5

65

37

Let [t] denote the greatest integer =t. Then
the equationin x, [x}*> +2[x+2] —7=0has :

no int egral solution.

exactly two solutions.

exactly four integral solutions.

inf irl_itel}r many solutions.

Ife [t] FEwH Ui <t S92, o x H qHE,
PP+ 2[x+2]-7=0
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40503640695, F1 F1E IO 2l T 2|
FHASEACI
F HE IR YUiEiE &

FATaEA el

2z +14

Let y= ,z=x+iyand k > 0. If the

% —Kf
curve represented by Re(u) +Im(u)=1
intersects the y-axis at the points P and Q
where PQ =25, then the value of k is :

1/2

3/2

www.FirstRanker.com
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Correct Marks : 4 Wrong Marks : 1

,z=x+;'y?{93ﬂk}{]%I Ife
z—ki

Re(u) + Im(u) =1 51 F9&Tq =36, y-314 =l
P 91 Q W F2dl &, 9% PQ=5%, @ k

T ;

If

A5

1/2

3/2

cosfl  isinf -
A=| | : r(ﬂ=iw and
isinf  cosb 24 )

= [a 3], where .;' — J— 1, then
C

which one of the [ D]lowing is not true ?

al—d2=0

www.FirstRanker.com
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1
E‘l2 =T b2 = E
40503640704.

0=a’2+b%2=1

isinfl  cosb 24

' cosll  1sinb :
7fe A=[ ](u=1j qem

A% = [a S]Tﬁl’ﬁﬁ: =J-1gdfm=d

C
H FHA-11 5 Tl 2 7
al—d2=0
1
i e
al—h? >
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

20
ﬂ}_rc i B
The value of 6 is equal to:
r=0

5%6 . 31](:6
5(}(:7 . 30(:7
s1c, — 3G,

51, + 30C,

. 1]
Zm_rcﬁ AT

5(](:6 — HQCﬁ
5(}(:7 - 3(}(:7

SIC—: — 30(:‘—:
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51C,, + 30C,

40503640710.

Let a and B be the roots of x*>—3x+p=0
and v and & be the roots of 12—6x+q=ﬂ.
If o, B, v, ® form a geometric progression.

Then ratio (2g+p): (2q — p)is:

33 ;31

3=1

HAT o T B, TR 22 —3x+ p=07F TaA &
ARy A5, THIFN 22— 6x+q=0F FA L |
If2 o, B, y T4 & YOI gt § F, 1 m,
(2q+p):(2q —p) ¥:
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40503640711, 2231
9.7
5:3
3:1
It

1+(1-221)+(1-423)+(1—-6%5) +.... +
(1—20%19)=a— 220, then an ordered pair
(o, B) is equal to :

(10, 97)

(10, 103)

(11, 103)

(11, 97)
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7fe
1+(1-221)+(1—423) + (1 —625) + .. +
(1—-202-19) =a—220B, @ UH HHIT I
(at, B) T T :

(10, 97)
(10, 103)
(11, 103)

(11, 97)

Let f be a twice differentiable function on
(1, 6). If f(2)=8, f'(2)=5, f'(x)=1 and
f"(x)=4, for all xe(1, 6), then :

f(5)=10

fE)+f(5)=28

f15)+f1(5)=20
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40503640722, 1 @) H/(5)=26

A FeT f, S0 (1, 6) H 21 91 ATFha11d
g1 AT f(2)=8,f'(2) =5, TN T xe(1,6) F
fau i) =19qf"(x) =4 €, W :

f(5)=<10

f6)+(5)=28

f(3) +f1(5)=20

f6)+1(5)=26

F (a++2 b cosx) (a2 beosy)=a%-b?,
herea >b > 0, th g -(3 =
where a , then dy at 1 1) s

a—b

a+b
www.FirstRanker.com
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2a+b
40503640724, 2a — b

a+b
a—b

a—2b
a+2b

qﬁ:.[a 2 beosx)
[a ﬁhcasy}zaz b2, MEla>b>0%,

e dx
@l — —| W aua e

o
-

Y]
=p

Y]
=3
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a—2b
a+2b

40503640726.

Let flx)=|x—2| and g(x)=f{fix)), xe[0, 4].

3
Then j(g(x} f(x)) dx is equal to
0

b | =

h |G

www.FirstRanker.com
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afe xe[0, 4] & faU flx)=|x—2| qa@1
k!

SO=ffw) & T [@w) ~fl)dr
0

e

b3 | =

M| e

| - e
Theintegral | | -~ is equal

Lo
(where C is a constant of integration) :

xtanx
secxy + +C

xsinx + cosx

www.FirstRanker.com
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. rtanx
SeCX - ®
40503640732. xsmx + cosx
rsecx
tanx 4 L

xsiny + cosx

tanx - + C
rsinx + cosx

2
X
A ”—J dy =vaw 2
\XS]I'L'XiCDSI
(W&l C Ush WHEE A= 2)
secxy Xian x FC

xsinxy + cosx

rtanx
secx - +C
xrsinx + cosx

xsecx
tanx + - + C
xsinx + cosx

tanx - +C
xsinx + cosx
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Question Number : 62 Question Id : 40503611217 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let f(x)= J_ ——5 dx(x=0). Then
(1 ;t]

f(3)—f(1)is equal to :

LA B ]
{ 4
T, 1 3
12 2 4
Tl a3
b 2 4
Togplg e
b6 2 4

afz o) -[—2 ar@=0) # @
1+ x)

f(3)—f(1) TR :
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L1 1 ﬁ
S e SR
40503640735, 12 2 4
T, 1 A3
12 2 4
=, 1_3
& & B
Wil N8
5 2 4

Let y=y(x) be the solution of the
differential equation,
xy'—y=x2(xcr:-sx+sinx}, =280 I

o

y()=mr, then y"(g] | y(z] is equal to :

;& T
2
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ar
g
40503640741, 2
a7 "T2
7 4 il 1 e
2 4
HHET Al THEHT

xy' —y =x*(xcosx +sinx), x>0 FH & y=y(x)

2 AT y(m) =T @ y(i] + F(E] o

¥

2 2

i
2
2
I}E}W_
2 4
3o
2
a7 ".'I'2
24+ — + —
2 4

www.FirstRanker.com
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Question Number : 64 Question Id : 40503611219 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A triangle ABC lying in the first quadrant
has two wvertices as A(1, 2) and B(3, 1).

If ZBAC = 90°, and ar (AABC) = 55 sq.

units, then the abscissa of the vertex Cis :

1+245
1+45
2445
25 -1

U Y ABC, W wom =quien § from 2, &
< wid fag A(1L, 2) a2 B3, 1) &1 afg
ZBAC = 90° 4T ar (AABC) =55 o
THE ©, it o= C &1 49 (Abscissa) ¥

14245
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40503640744, 1+ VB
2+45
25 -1
'xz yz
Let 2 t 12 =1(a > b) bea given ellipse,

length of whose latus rectum is 10. If its

eccentricit}r is the maximum value of the

function, ¢(t) = % t —t2, then a2+ b2
is equal to :

116

126

135

145

www.FirstRanker.com
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
2 2

b g—2=1(a:~b}waﬁ§ﬁﬁm%
d

o & ifera <fran &1 @rs 10 21 4f 59
FT Ik, FAT (t) = % Ft—t2H

SAfeeras 9 % SUE 8, a1 a2+ b2 et §

116
126

135

145

Let P(3, 3) be a point on the hyperbola,

1‘2 yZ

— — =— =1. If the normal to it at P
2 2

a b

intersects the x-axis at (9, 0) and e is its

eccentricity, then the ordered pair (az, ez}

is equal to:

www.FirstRanker.com
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40503640751,
(9,3)
(3
=i
52
3:)
\ 2
'xz 2
A fawg P(3, 3) e, - - L =1
a b

T fior 31 4fE P W THe SAfeE, x-319 W
fa=g (9, 0) T F12@ T 991 THH IFRdl e F
TR 2, T FHT TH (a2, o) R T

(32
©.3)

3 ,)

T S,
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9
9 3]
40503640754. \2

Let x; be the point of local maxima of

flx) = a. |:I_:: X ?], where
S sleel B ole B o

of a E} f ﬁ?i E}-:at:t—xﬂn;
-30
-22
—4
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A x,, W f(x) = 2 - b x ¢ | FTEEA

If=rea %. = ;=x? 2? lSi,
.—:» s A

b=—2i+ xj— % EEL
E}=?? 2; fxf.: %', Gl X=Xy T
.—> .- — = - =
a-b+b-c+c-a ?EI'FIFI%

The mean and variance of 8 observations
are 10 and 13.5, respectively. If 6 of these
observations are 5, 7, 10, 12, 14, 15, then
the absolute difference of the remaining

two observations is :

i

www.FirstRanker.com
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40503640760,

7

8 JeIUT T HIET T4 TEI0T A 10 9971 13.5
¥ afe a8 W 6 U=W5, 7,10, 12, 14 9115 &,
ql =Tt 2 G = e S e
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Two vertical poles AB=15 m and
CD=10 m are standing apart on a
horizontal ground with points A and C on
the ground. If P is the point of intersection
of BC and AD, then the height of P (in m)
above the line AC is :

10/3

20/3

o WY @9 AB=15 m 791 CD =10 m, 4fas
A RsE yFR @2 ¥ fF A 9 C g w
Ife BC 991 AD 1 Wid=ged fag P &,
T ACHPH 39 (m¥) ¥
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40503640766, 2

Given the fD]lDwing two statements :

©G)i@vp—=(e~q is
tautology.

(S5): ~q A (~p < q) isafallacy. Then:

both (S;) and (S,) are correct.

only (Sy) is correct.

only (S,) is correct.

both (5;) and (S,) are not correct.

=1 <1 A few o #
1)@V p) = (p o ~q) THIRFE
.{52}: ~ghaf~p o q}ﬂ,ﬂ?ﬁﬁ‘gﬁﬁ%lﬁ:
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40503640767, (O1) T (S2) =F1 HEl gl

Fa (S,) TE T
Fad (S,) TE T

(S,) T (S,) S HE & F

If the system of equations
x—2y+3z=9
Zx+y+z=b
x—7y+az=24, has infinitely many

solutions, thena — bis equal to

5 to0 5.002

Correct Marks : 4 Wrong Marks : 0,,,\\\v FirstRanker.com
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It g fFE
x—2y+3z=9
2x+y+z=b
x—7y+az=24
F AT AL dla—b T

5 to 5.002

Question Number : 72 Question Id : 40503611227 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

20
Let (2x% +3x + 410 = Za,xr . Then
r=0
ay
s is equal to
5 to 5.002
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Correct Marks : 4 Wrong Marks : 0
20

222 +3x +4)0 =Y ax’, @ —

7fa ( 0= ax", @
=0

T |

510 5.002

Question Number : 73 Question Id : 40503611228 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Suppose a differentiable function f(x)

satisfies the identity

flx+y)=f(x)+f(y) +xy2+12y, for all real
xand y. If lim (455 1, then f'(3)is

r—0 x

equal to

5t05.002
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Correct Marks : 4 Wrong Marks : 0
A BHi ARfa® HEE x a9y F o, v
FAIFHAAE FAT f(x), THEHEFT (identity)
fx+y)=f(x) +f(y) +xy?+ 22y FT HY=
F T AR unhﬂ — 1, PE) TR E
r— X
|

5t05.002

Question Number : 74 Question Id : 40503611229 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the equation of a plane P, passing
through the intersection of the planes,
x+4y—z+7=0 and 3x+y+5z=8 is
ax +by+6z=15 for some a, b e R, then the
distance of the point (3, 2, —1) from the

plane P is

www.FirstRanker.com
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Question Number : 74 Question Id : 40503611229 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

2l a, b e R & foT0, T9aet P o1 |EE0, 5

Eﬁﬂ'ﬁ, x+4y—z +?=Dﬂm3x+y+52=8_?ﬁ

wfa=sed ¥ 2T 9 2, ax+by+6z=15 g

@ fag (3,2, —1) = 99aa P ¥ g0 TR

4 |

5t05.002

Question Number : 75 Question Id : 40503611230 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The prohahility of a man hittf_ng a target is

1
ﬁ' The least number of shots required,

so that the probability of his hitting the

1
target at least once is greater than I

1s
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Possible Answers :
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Question Number : 75 Question Id : 40503611230 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

TF HAfgd & UF @AL9 F1 Y24 Fl GigFal
1 = = - m, o m
ﬁ%l F9% F9 U FH TS 91 A% &l 951
[ .Ix e W T Y =

mmﬁaﬁmzuaﬁﬁ?mmﬁa,m

9l (shots) ®1 %9 ¥ &H H&Al B
|

5t05.002
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